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� �  � $�+ � � � � � �� � � ~Kc � � " � $�� � � � � $. � � � . � �  � �� ��+ � . � � � �* �� �� $ � � � � � � � 3 � �� & � � �!2  � / r)� �* � � 2 . 2 . �� � � $ �� a 0, 7 ' � �  � � �� � � '� 3 � � � ~Kc ' �� ��  �� � � ��* � ' �� � � � ��* � � �* �� � �� * � � � ��� � � ' � � � 2 � � �� � �  � � r > a1 3 �� 2 . � �� � � � � 2 . � � � � � � � 3 ��  � ' �� � �� �. � / 3 �� 2 . $� � l# � � �� �. �� � � � � � . 1  �� � � l = 11 2 . � � � � � . 0,



� � �	 �� 


� , � 2 , � . � � � " � $� ' �� 1 3 ��

Kmm = −
2

3

Ω3

c3
m2α cos χ � 0 
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Kmm =
2

3

Ω3
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m2 (1 − α) cos χ

IΩ
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= −Kmm sin χ

2 � 03  � 0 � � + 4% )  " � # $ � � � � % " �% �0 " � �0 �0 � �5 " ) �� 4�. 0 � � � # �� � ) $ " � � �� 0 � 4$ � �% χ = 0◦) χ = 90◦ #% � +' � ! " � � ��. & � � �) α = 1 16 �) $ �' # �0 � ) α(χ) = const # � �7 � � � � % " �% �0 ) �
 4  �� " � 40 � � * $ ) % � ' 1
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< >O @ 8 = < < =O C ; >C T U D =E < = ? H F 9 TVU ;9 @ G
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 � �  �* 0 � % ) � ��. " � � � &  � 5 0 � 4$ � 5 cos χ = 1 # � 1 � 1 & �,  � % � &� � � ~Ω" � � � � % � �" � � ~m 1
 � 5 � � �) +% ��. " �, � cos χ0 �$ �" ) � � � 4
 &) 0 � �3 �) % � �� 0 5 % � � �0 & �0 � ) % � &� � � �% ~Ω) ~m # � 1 � 1% 7 � � '

" � � �� % � �" ) ) � � +' � �� 4�. 0 � � " � * � � 4
 &) 4' �". � � �� 0 5 0 θ0aη3/2  � θ1aη3/2 1
 ��
 �� ��� � � � ��� � �� �
 �� � " � *  �" � +� % ) 0 ) ' �0 �. � � �(' � � 4�. 0 � � " � * � � 4
 &) � � 4, � � χ 1

sin θ1 = sin θ0g(χ)

g(χ) =

(

(1 − µ)3

1 + 3µ

)1/4

X T > cos χ =
1 − 3µ
√

1 + 3µ

6 �) ) +' �" � ") ) χ � � 0  � 90◦ µ' �" 5 �� 0 5 �� 0  � 1
3 # χ = 90◦0 � �� % �� 0 � % 4 �� µ = 1

3

g(
π

2
) =

(

4

27

)
1
4

≈ 0.620
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I

K0

dΩ
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I
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d cos χ
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= (1 − α) sin2 χ cos χ

I
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Ω
dφ
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c

Ωa
cosχ

+  �0 . φ � � +) ' 4� � �. " � * 4, �� % � &� � � � ~Ω = (sin χ cos φ , sin χ sin φ , cos χ) # I � ' � ' �" � ) " � � �) )

" �* � � � " " � * +% � +  � ) K0 = 2
3

Ω3m2
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1
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2π
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3

5
Ω
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«
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P

2Ṗ
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(
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√
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